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Skill : Identifying shapes

1. Describe the characteristics of a square.
- wquat angles ()
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2. What are the similarities and differences

between squares and rectangles?
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3. How does a triangle relate to a
rectangle?

A Monple
or e Cﬁﬂ@]e

4. What kind of triangle has three equal
sides and three equal angles?

fquila%fhj
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Skill : Area of squares and rectangles

1. Explain how you find the area of a
rectangle.

2. Arectangleis 15 inches long and 12.5
inches wide. What is the area of the
rectangle?

| XIS
1875 in

3. Explain how you find the area of a
square and why it is different than
finding the area of a rectangle.

Since Hne IAes

afe equal, You Ceny

use Azbxh or A=s?
for o fectunge, Hou

Con of\\t) use  A=bxly

4. A square has 4.5 centimeter sides. What
is the area?

4ys x 4.5~
J0.25em™
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Skill : Area of squares, rectangles and triangles.

1. How do you find the length of a
rectangle when you are given the total
area and the widthe

Divide the area
by Hhe width.

2. How do you find the area of a triangle
and how does it relate to finding the
area of arectangle?

Area = z~bxh

Since o Mahg(é 'S
Nalf of o frec n@'(’
the are 15 fdand
b& divxdms loxl~ W
halF

-

3. Find the area of a triangle that has o_
base of 12 inches and a height of 10
inches.

gxlax‘o
L0 in. >

4. Find the orec:._

15 yd.
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Key Jenma

. Base - Tbe b:.aH‘DW\ eOIQ_Q Q'lo A Shﬂ@e

* Height - T_V\e d\SJ’-'ZW\CJ PkaYJW 'H"\e +OD +0 b‘-?)':!'!‘;z’ edg{

Lalbel it : Label the base and height on each shape.

b

b

The formula for finding the area of each shape is :

GGres ¢

A=b.h OR A=¢°
(b =base, h = height, s = side)

Rech

A=b.h OR A=5¢?
(b = base, h = height)

gngles : L

Dugit

Find the area of each shape.
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Key Jerma :
.+ Base — -W\ﬁ LQD’H-DM Qdali O1 Q
. Height-_The_distanies Rown Ho hase b the h ﬁhf’f vertex.

Lalel it : Label the base and height on each shape.

Caleubate it :

The formula for finding the area of a triangle is :

S
(b =base, h = height)

The area of a triangle is ha \ Q the area of a rectangle because a
triangle is made from M \Q a fectanale

s

Find the area of each shape.

S ft.

Sits

20 cm 4 ft.

Area = __ Areq =
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— 12in.

Area =

T =1::;:: ==
13 meters

1I3x 13
Areqa = ILQq m}

Area = 33(9 ”ﬂ‘ &
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Area =
4.
40 cm
9cm
Area=____ _—
& I
i
|
¥ = 8 yds.
Area=___
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13 ft.

124!
32cm
j < 13
o~
Area=___ Areq = 1% ‘P+ '
3 s 4.
18in. |
lD.-___) ~o 38 m
25in. 'E
o s, n ]
4m
' ™~
Areq = 9;5 ‘n"} Area = ILO M
5. A 40cm
9 yd. 30cm

13 yd.

Areq = Sa YCI‘ o Area = (DOO M =
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Key
red of Triangle
» ERROR ANALYSI

Two students found the area of the given triangle and they
each came up with a different answer. Identify who is
correct and which error(s) was made by the student who

. Tavaris believes that he is able to use the formula A

was incorrect. e =
12in.
Yoo lle7 Yael2e7
59.5 inches? 42 inches?
_———————————3 4
R 1 ===

= s2when finding the area of a
rectangle and a square since the formula A = b x h is able to be used for finding the
area of a square and arectangle. Is he correcte Explain why or why not and give an
example.

He i ot correct hecouse o rectargle

_E Jto 1) &= 00

Lx 10 Z L*
LxlO Z 10

C1¢
7o

Two students found the area of the given shape and they
each came up with a different answer. Identify who is

correct and which error(s) was made by the student who
was incorrect.

GAVIN MASON 10 cm
1010 210
100 cm? 20 cm?

ct.
Mason mutiplied

L Enee——

0% jngtead
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